RDMOTO CZECH REPUBLIC
info@rdmoto.eu
www.rdmoto.eu

KTM11S

KTM 790 Duke 2018-2019

KTM 890 Duke 2020-

ID | Description Cat.no. Pcs ID | Description Cat.no. Pcs
1 | Steel adapter 732 1 1 | Steel adapter 732 1
2 Bolt M10x60mm 1048 2 2 | Bolt M10x60mm 1048 2
3 | Dural. roller 1=8mm 1334 1 3 | Dural. roller I=8mm 1334 1
4 | Dural. roller I=10mm 111 1 4 | Dural. roller I=10mm 111 1
5 | Washer M10 804 2 5 | Washer M10 804 2
6 | Dural. roller I=60mm 448 1 6 | Dural. roller I=60mm 448 1
7 Bolt HEX ,M12x40mm 826 1 7 | Bolt HEX ,M12x40mm 826 1
8 | Washer M12 —flat 803 1 8 | Washer M12 —flat 803 1
9 | Dural. adapter - slider 1137 1 9 | Dural. adapter - slider 1137 1
10 | Bolt M12x40mm 857 1 10 | Bolt M12x40mm 857 1
11 | Bolt M6x25mm 877 3 11 | Bolt M6x25mm 877 3
12 | Bolt M4x12mm 876 2 12 | Bolt M4x12mm 876 2

Note - We recommend using medium strenght glue for threads of all screws (blue
color).

Instructions :

1.) First mount the steel adapters on both sides (same screws + rollers L + P side) see photo.

2.) Then take a 60mm duralumin roller (ID.6) and mount it on the steel adapter with an
M12x40mm screw (ID.7, hex head) with an M12 washer.

3.) Now mount the duralumin adapter under the slider (ID.9) in the duralumin cylinder
(ID.6) with an M12x40mm screw (ID.10, Allen key).

4.) Fasten the slider with the screws (ID.11). Insert the cover into the protector and fasten it
with screws (ID.12).

5.) The assembly of the left and right side is identical.




Adapter ID.1 + bolt
M10 ID.2 + washer
MI10 ID.5 + dural.
roller ID.4 (Ilenght
10mm)

Bolt M12 ID.7 +
washer M12 ID. 8 +
dural. roller ID.6
(Ienght 60mm)

RDMOTO CZECH REPUBLIC
info@rdmoto.eu
www.rdmoto.eu

Bolt M10 ID.2 +
washer M10 ID. 5 +
dural. roller ID.3
(Ienght 8mm)

Bolt M12 ID.10 + dural. adapter
under the slider ID.9 + slider + bolts
M6x25mm ID.11 + bolts M4x12mm
ID.12 to attach the cover.




